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103352000917008 |&EHF | AHESES = 125200 |/ NILESTE E2 B4 [222 [84.58 [78.23
103352000921112 [FAFE |AHEEZ 125200 |/ NHEESTE E2B4%) [217 [87.08 [78.23
103352000918049 [#hf=)EF | AHEEES = 125200 |/NHEESTE E2 B4 [221 [85.04 [78.22
103352000919416  [3KEL INHEIRS R 125200 |/ HEETH E2B4] [216 [87.54 [78.22
103352000907304 |2HHE [ AHEESES 125200 |/ NHEESTE E2B4%) [234 {785 |[78.2
103352000906964 |EEE INHEIRS R 125200 |/ NHEESTE E2 B4 [208 [91.46 [78.18
103352000919484 |1iF INHEIRS R 125200 |/ HEETH E2B4%] [219 [85.94 [78.18
103352000918133 |[24] INHEIBRS R 125200 |/ NHEESTE E2B4%] [218 [86.4 [78.16
103352000919434  [WkE%lE | AHEEZ R 125200 |/ NHEESTE E2B4) [215 [87.8 [78.12




103352000919531 |[(FfFiE | AHEEZ b 125200 |[/NHETE ELB4%l [219 [85.8 [78.12
103352000907308 |EFFF |AHEEZ: 125200 |[/NHETE E2B4%) [213 [88.62 [78.05
103352000906948 [Tl INHETRS R 125200 |[ANitEsTE JE2AB4%) [210 [90.1 [78.04
103352000907717 |5kE&tf, |[AHEES[= 125200 |[ANitEsTE e B4 213 [88.54 [78.02
103352000906950 [#7ME | AHEEIEZ R 125200 |[ANitEsTE E2B4) [227 [81.54 [78.02
103352000907726 |B&IS INHETRS R 125200 |[ANitEsTE E2RB4) [212 [88.86 [77.94
103352000917035 |[#Le2 | NHESES R 125200 |[ANitEsTE E2B4 [215 [87.24 [|77.9
103352000907389 |E#] INHETRS R 125200 |[ANitEsTE ELB4%l 218 [85.7 [77.88
103352000908234 [|RETEE |[AHEEZ[= 125200 |[ANitEsTE E2B4E) [227 [81.02 [77.81
103352000907637 |4k [AHEES[= 125200 |[ANitEsTE E2RB4) [215 [86.98 [77.79
103352000907642 |%iHG | AHSES R 125200 |[ANitEsTE E2B4) [211 [88.98 [77.79
103352000907472 |BBAR |[AHLEESI= 125200 |[ANitEsTE E2RB4) [217 [85.94 [77.78
103352000918123 [Z=fFul | AHEESES b= 125200 |[ANitEsTE E2B4E [225 [81.9 [77.76
103352000906844 |5 INHETES R 125200 |/NHEETE E£HH [219 [84.82 |77.73
103352000917266 [FEX | AHEEZ b 125200 |/NHEEIE JELHS |219 [84.8 [77.72
103352000918466 |fi= | AHEESMR 125200 |/NHEETE E£HH [211 [88.7 |77.68
103352000907315 |EFIIN | AHEEZ R 125200 |[ANitEsTE ELB4%l 216 [86.12 [77.65
103352000920188 |2IRE |AHEEZ R 125200 |[ANitEsTE ELB4%l 218 [85.1 [77.64
103352000907548 |[FiFK | AHEEZE 125200 |/NHEETE JE£HH |231 [78.58 |77.63
103352000918877 |akIERk |[AHEES= 125200 |[ANitEsTE E2B4) [214 [87.04 [77.62
103352000920192 |I&Er; |[AHLEES[= 125200 |[ANitEsTE ELB4) [218 [84.92 [77.57
103352000907764 |REE |[AHEES[= 125200 |[ANitEsTE JE2B4%) [220 [83.88 [77.55
103352000907278 |[BEE | AHBES 125200 |[ANLEsTE E2RB4) [213 [87.32 [77.53
103352000907771  |Hiix | AHEES R 125200 |[/NHETE E2RB4) [218 [84.78 [77.51
103352000906943 |EAIN INHETRS R 125200 |[ANitEsTE JE2RB4) [205 [91.18 [77.47
103352000907656 |EFHZ |AHEEZ: 125200 |[ANiLEsTE E2B4) [213 [87.14 [77.46
103352000921127 |[BF&R |[AHEES = 125200 |[ANitEsTE JE2RB4%) [226 [80.58 [77.43
103352000918065 |#iFe= |[AHEES (= 125200 |[ANitEsTE E2B4) [214 [86.34 [77.34
103352000917294 |{ath NSRS b 125200 |[/NHETE E2B4) [211 [|87.84 [77.34
103352000921176 |/5tE NSRS b 125200 |[ANtEsTE E2AB4) [216 [85.3 [77.32
103352000920058 |[tA/\E | AHESESR 125200 |[ANiLEsTE E2B4E) [217 [84.78 [77.31
103352000907344 |EMHZE [AHEES[= 125200 |[ANitEsTE E2B4) [217 [84.68 [77.27
103352000920391 |[ZEH INHETES R 125200 |[ANitEsTE E2RB4) [213 [86.68 [77.27
103352000921054  [ZkZEBN | AHEEZ bk 125200 |[/NHETR E2B4) [211 |87.68 [77.27
103352000907688 |=HF | AHESES 125200 |[ANitEsTE E2B4) [214 [86.14 [77.26
103352000919415 [#X#8 | AHEESES = 125200 |[ANitEsTE E2RB4%) [216 [85.02 [77.21
103352000907359 |[f&iE INHETRS R 125200 |/NHEETE JE£HH |[208 [88.9 |77.16
103352000920070 |#XBEE | AHEEFR 125200 |[ANitEsTE E2B4) [222 [81.82 [77.13




103352000907387 [IZIHiE | AHEEZ b 125200 |[/NHETE B4 [216 [84.8 [77.12
103352000907341 |&EHIK |[AAHEES (= 125200 |[/NHETE ELB4%I [210 [87.76 [77.1
103352000907069 |1&5% NSRS b 125200 |[ANitEsTE e B4 209 [88.24 [77.1
103352000920085 |ZF;E INHETRS R 125200 |/NHEETE E£HFH [219 [83.26 |77.1
103352000917205 |giE® NSRS b 125200 |[ANitEsTE JE2 B4 [206 [89.64 [77.06
103352000907430 [ ME | NSRS 125200 |[ANitEsTE E2AB4) [210 [87.56 [77.02
103352000907384 | NSRS b 125200 |[ANitEsTE E2B4) [217 [83.94 [76.98
103352000907640 |&E NSRS b 125200 |[ANitEsTE e B4l 207 [88.88 [76.95
103352000907539 [k=Fi#E | AHBES 125200 |[ANitEsTE E2RB4) [216 [84.36 [76.94
103352000918448 |%k0H)L |[AHEES[= 125200 |[ANitEsTE E2RB4) [217 [83.8 [76.92
103352000918035 |Z=R1p |[AHEHES (= 125200 |[ANitEsTE E2B4%I [210 [87.24 [76.9
103352000918108 |4 | AHESES = 125200 |[ANitEsTE E2B4% [213 [85.74 |76.9
103352000907381 |Boa INHETRZ R 125200 [/NHETE £ R%I [206 [89.16 [76.86
103352000920076 |&NFE |[AHLBESE 125200 |[ANitEsTE E2B4) [221 [81.58 [76.83
103352000920126 |[EE1 |[AHEES[= 125200 |[ANitEsTE e B4 [206 [88.92 [76.77
103352000921113  |ERE(Y | AHEES R 125200 |[ANitEsTE e B4l 206 [88.74 [76.7
103352000906953 |FiiElF |[AHEES = 125200 |[ANitEsTE E2B4) [204 [89.7 [76.68
103352000907563 |[Z2%F | HEEZRR 125200 |[ANitEsTE JE2 B4l [208 [87.64 [76.66
103352000919458 |7Rt4 NSRS b 125200 |[ANitEsTE JE2 B4l 208 [87.66 [76.66
103352000920122 |EFiE |[AHLEESI= 125200 |[ANitEsTE E2AB4) [210 [86.48 [76.59
103352000919530 [;kZtE | AHEEZ R 125200 |[ANitEsTE E2B4) [204 [89.42 [76.57
103352000917198 |[FEiEER | TSRS 125200 |/NHEEIE JE£HH [199 [91.74 |76.5
103352000907559 |k |[AHEES= 125200 |[ANLEsTE ELB4% 209 [86.5 [76.4
103352000918815 | BEatil | AHEEZ R 125200 |[/NHETE e B4 [204 [88.98 [76.39
103352000907697 |BJkEy [AHEESi= 125200 |[ANitEsTE E2B4) [214 [83.92 [76.37
103352000907506 |[FLE INHETRS R 125200 |/NHEETE JE£HI [206 [87.88 |76.35
103352000920405 |&)E INHETRS MR 125200 |/NHEETE JE£ B |206 [87.84 |76.34
103352000908264 |2R{Ets [AHLEES[= 125200 |[ANitEsTE e B4 208 [86.64 [76.26
103352000920049 |FRRRAR | AHEES R 125200 |[/NHETE JE£HH |[205 [88.08 |76.23
103352000907756 |[{al%A NSRS b 125200 |[ANtEsTE EL B4 208 [86.54 [76.22
103352000921142 [FHIE | HEESE: 125200 |[ANiLEsTE JE2RB4%) [204 [88.48 [76.19
103352000907597 |EE [AHEES[= 125200 |[ANitEsTE e B4 208 [86.42 [76.17
103352000906996 |iiiEiH: | AHEEZ 125200 |[ANitEsTE e B4l [206 [87.34 [76.14
103352000918182 |[#FE | AHEEZRR 125200 |[/NHETR E2B4E) (212 [84.22 [76.09
103352000907542 |[FER |AHSES R 125200 |[ANitEsTE JE2RB4%) [204 [88.16 [76.06
103352000907009 |HAE |AHEEZ 125200 |[ANitEsTE e B4 [207 [86.52 [76.01
103352000907349 |&/FRE | AHEES R 125200 |[ANitEsTE e B4 [207 [86.34 [75.94
103352000907730 |[BEFAR |AHEEZE 125200 |/NHEETE E£HH [217 [81.32 |75.93




103352000907765 |EfE |AHEEZ: 125200 |[/NHETE B4l 208 [85.76 [75.9
103352000917201 |EBERE | AHEEZ R 125200 |[/NHETE e B4l [206 [86.72 [75.89
103352000907579 |[EE1E | AHEEZE 125200 |/NHEETE JE£H® 215 [82.14 [75.86
103352000918431 [{iERE |[AHEES[= 125200 |[ANitEsTE E2B4E [211 [84.1 [75.84
103352000906864 [FE;T | AHEEZ R 125200 |/NHEETE JE£HS 198 [90.52 [75.81
103352000917118 |EZEFE |AHEEZ R 125200 |[ANitEsTE E2B4) [210 [84.44 [75.78
103352000907238 [WhEIE | ANHEES P 125200 |[/NHETE E2RB4) [222 [78.46 [75.78
103352000907507 [iFH K | AHESES 125200 |[ANitEsTE E2B4) [212 [83.46 [75.78
103352000920614 |BkEefE | AHEEZ R 125200 |[ANitEsTE E2RB4) [213 [82.96 [75.78
103352000920151  [ZREIX | AHEEZ R 125200 |[/NHETE ELB4% [205 [86.7 [75.68
103352000906828 |FI=IN | AHEES = 125200 |[ANitEsTE E2RB4) [197 [90.46 [75.58
103352000907379 = NSRS b 125200 |[ANitEsTE E2 B4 [209 [84.42 [75.57
103352000907190 [5KZBH |AHEEZ R 125200 |/NHEETE JE£HFI [208 [84.92 |75.57
103352000907274 |{@#its |[AHEES= 125200 |[ANitEsTE ELB4% [206 [85.9 [75.56
103352000921174 [[FEEiE [ ANHEES = 125200 |[ANitEsTE E2B4%) [228 [74.88 |75.55
103352000918886 |Fit= NSRS b 125200 |[ANitEsTE E2 B4 [207 [85.24 |75.5
103352000916978  |FRZEM | AHEES IR 125200 |/NHEETE JE£HS |212 [82.68 [75.47
103352000919476 |AEME | AHBES R 125200 |[ANitEsTE e B4l [207 [85.18 [75.47
103352000920107 [X{EE |[AHLEES[= 125200 |[ANitEsTE e B4 208 [84.64 [75.46
103352000918089  |p&hs INHETRS R 125200 |/NHEETE JE£HH |214 [81.54 [75.42
103352000919444 |E#HE |[AHLEES[= 125200 |[ANitEsTE e B4 [204 [86.54 [75.42
103352000918574 [skEtE [ AHEES = 125200 |[ANitEsTE E2B4E) [218 [79.52 [75.41
103352000912019 [Z{FE | AHLSES = 125200 |[ANLEsTE E£LB4%l 206 [85.5 [75.4
103352000906832 |fF3R INHETRS R 125200 |/NHEETE JE£HS 211 (83 75.4
103352000907335 |[Z/VE | AHEEESRR 125200 |[/NHETE E2B4%l 216 [80.5 [75.4
103352000918092 |EMEK |AHEEZMT 125200 |/NLEsTE ELBS 1217 [79.92 |75.37 [[BEEAFETEITE
103352000921153 [JI&E |[AHEEZFIR 125200 |/ HEETH E2 B4l [203 [86.88 [75.35
103352000907024  (PFZgiid | AHEERZPR 125200 |/ NHEESTE E2 B4 [205 [85.84 [75.34
103352000907490 |%=EE | AAHBES = 125200 |[ANitEsmE E2B4) [207 [84.74 [75.3
103352000907659 |#kfE NSRS 125200 |[ANitEsmE E2B4% [199 [88.72 [75.29
103352000907111 | EFHF |AHEESFR 125200 [AHEE JE£HF |203 [86.64 |75.26
103352000907496 |#A8F8%: | HEES (= 125200 |/NHEETH E2 B4 [208 [84.16 [75.26
103352000927084 |&FiE |AHEEZER 125200 [AHEE JE£HF |203 [86.48 |75.19
103352000920186 |tk INHEEIRS R 125200 |/ NHLESTE E2 B4 [209 [83.42 [75.17
103352000917265 |ZkiH NSRS 125200 |/ HEETH 28B4 [221 [77.34 [75.14
103352000907553 |BR1Y |[AHEEZFIR 125200 |[ANitEsme E2B4%) [206 [84.8 [75.12
103352000907128 [{B= INHEIRS R 125200 |/ NHEESTE E2B4%) [201 [87.28 [75.11




103352000907670 |32 INHETRZ R 125200 |/NHEETE JE£HHI [201 [87.1  |75.04
103352000907445 |XFH |AHEEZ: 125200 |[/NHETE e B4l [204 [85.56 [75.02
103352000906936 |>FHRME | AHEES = 125200 |[ANitEsTE E2B4E) [199 [87.98 [74.99
103352000920144 |[HBHHER |[AHLEESi= 125200 |[ANitEsTE e B4 [206 [84.44 [74.98
103352000907380 [HZiE | AHEEZ P 125200 |[ANitEsTE E2B4) [197 [88.82 [74.93
103352000907271 [SLEhE |[AHEESi= 125200 |[ANitEsTE E2B4%) [202 [86.26 [74.9
103352000917080 |HfFT |AHEEFR 125200 |[ANitEsTE ELB4% [198 [88.2 [74.88
103352000918892 |E&F INHETRS R 125200 |[ANitEsTE JE2 B4l 203 [85.7 [74.88
103352000907233 |[4kEpiE | AHEES 125200 |[ANitEsTE JE2 B4l 203 [85.54 [74.82
103352000907365 |f2T# |AHEESIR 125200 |[ANitEsTE E2RB4%) [213 [80.52 [74.81
103352000907321 |[#FfEIH | AHEES 125200 |[ANitEsTE E2RB4) [204 [84.96 [74.78
103352000907594 |%kiZEm [AHEESI= 125200 |[ANitEsTE E2B4) [204 [84.94 [74.78
103352000906910 |#KfE NSRS b 125200 |[ANitEsTE LB [199 [87.42 [74.77
103352000907748 |[BFREE | AHEEZE 125200 |[ANitEsTE JE2 B4 [207 [83.36 [74.74
103352000908277 [#XI5I5 |[AHEES[= 125200 |[ANitEsTE ELB4% [196 [88.86 [74.74
103352000919479 [FoE | AHSES 125200 |[ANitEsTE E2B4E) [199 [87.34 [74.74
103352000907682 |ZEW; |[AHLEES[= 125200 |[ANitEsTE JE2 B4 [202 [85.68 [74.67
103352000907358 |£Bfin NSRS b 125200 |[ANitEsTE e B4l 206 [83.62 [74.65
103352000922149 |2gE |[AHEESI= 125200 |[ANitEsTE ELB% [199 [87.06 [74.62
103352000907377 |HxiE [AHEES[= 125200 |[ANitEsTE ELB4% [196 [88.52 [74.61
103352000907745 |[EiFE | AHEEZ PR 125200 |[ANitEsTE JE2 B4 [208 [82.48 [74.59
103352000918887 |[ILIE INHETES R 125200 |[ANitEsTE JE2 R4 [203 [84.98 [74.59
103352000907725 |87 | AHESES = 125200 |[ANLEsTE e B4 [202 [85.44 [74.58
103352000907750 [{BIRFH | AHEEZE: 125200 |[/NHETE E2RB4) [204 [84.46 [74.58
103352000907719 |FpH INHETRS R 125200 |[ANitEsTE JE2RB4%) [201 [85.8 [74.52
103352000908229 |[HEE |AHLBES R 125200 |[ANiLEsTE E2RB4) [202 [85.3 [74.52
103352000921164 | FKHEE NSRS B 125200 |[ANitEsTE E2AB4) [210 [81.3 [74.52
103352000907752 |#&PiE |[AHLEESI= 125200 |[ANitEsTE E2B4%) [202 [85.26 |74.5
103352000920195 [FEE | AHEEZ P 125200 |[/NHETE ELB% [198 [87.24 [74.5
103352000907779 [#FEIF |AHSES 125200 |[ANtEsTE E2 B4 203 [84.66 [74.46
103352000907038 [T |AAHEEZER 125200 |/NHEETE JE£ B |207 [82.64 |74.46
103352000907196 [ZFEE | AHEESE: 125200 |[ANitEsTE ELB4% [200 [86.1 [74.44
103352000906954 |BRKAR | AHEES IR 125200 |/NHEETE E£HH [198 [87.1 |74.44
103352000920410 |RiFEH |AHEESIR 125200 |[/NHETR E2RB4) [207 [82.6 [74.44
103352000906859 |Z=EY INHETES R 125200 |[ANitEsTE ELB%I [196 [88.02 [74.41
103352000907409 |41 INHETES R 125200 |[ANitEsTE E£BF |[204 |84 74.4
103352000918814 |[;3Ek NHEES MR 125200 |NHEETE E2B% [192 [89.96 [74.38
103352000907257 |&FEEE | AHEEZE 125200 |[ANitEsTE JE£2 B4 [200 [85.92 [74.37




103352000923134 |EHRH |AHEEZ: 125200 |[/NHETE e B4 [200 [85.92 [74.37
103352000906823  |#HES INHETRZ R 125200 |[/NHETE E2B4) [197 [87.34 [74.34
103352000907604 |R=4F |[AHEESI= 125200 |[ANitEsTE e B4l [205 [83.34 [74.34
103352000907294 |3KEETa |[AHEESI= 125200 |[ANitEsTE E2B4E [192 [89.8 [74.32
103352000908268 |75 INHETRS R 125200 |/NHEETE JE£HH [201 [85.2 |74.28
103352000920202 |Bp—A |[AHEES[= 125200 |[ANitEsTE ELB4% 208 [81.7 [74.28
103352000908245 |3KE1E | AHEEZ R 125200 |[ANitEsTE JE£2 B4 [200 [85.66 [74.26
103352000906926 |[FFEE | AHEEZE 125200 |/NHEETE JE£HF |206 [82.64 |74.26
103352000907281 |A1IE NSRS b 125200 |[ANitEsTE E2RB4) [196 [|87.54 [74.22
103352000918428 |FEE= | ANHEEZRR 125200 |[ANitEsTE e84 [200 [85.4 [74.16
103352000906990 |FiEyE | ANHEEZ R 125200 |/NHEETE JE£HFI [203 [83.74 |74.1
103352000918175 |[HER NSRS b 125200 |[ANitEsTE ELB4% [198 [86.16 [74.06
103352000907280 [#XPAMN, | AHEEIES = 125200 |[ANitEsTE E2B4E [191 [89.6 [74.04
103352000918828 [1HEE | AHEEZ PR 125200 |[ANitEsTE e B4 [200 [85.02 [74.01
103352000920109 |[MHE/R [AHEES= 125200 |[ANitEsTE E2B4%) [201 [84.5 |74

103352000921087 |FUE NSRS b 125200 |[ANitEsTE JE2B4) [201 [84.46 [73.98
103352000918430 |[3LtH INHETES R 125200 |[ANitEsTE E2B4E [212 [78.9 [73.96
103352000918107 |FfE INHETRS R 125200 |[ANitEsTE E2B4E [197 [86.4 [73.96
103352000907161 |28l NSRS b 125200 |[ANitEsTE ELB4% [195 [87.36 [73.94
103352000906908 [@liFx | AHEEZ P 125200 |[ANitEsTE E2RB4) [207 [81.34 [73.94
103352000920080 |jE= INHETRS MR 125200 |[ANitEsTE ELB4%l [196 [86.8 [73.92
103352000907386 |[Z=8F18 | AHEBES = 125200 |[ANitEsTE ELB% [197 [86.28 [73.91
103352000907598 |@FuE | AHESES 125200 |[ANLEsTE ELB4 [194 [87.74 [73.9
103352000908240 |t | AHEES IR 125200 |[/NHETE JE£ B4 [200 [84.58 [73.83
103352000907545 |3Kik NSRS B 125200 |[ANitEsTE ELB4% [198 [85.56 [73.82
103352000907794 |Z=TF |[AHEES[= 125200 |[ANiLEsTE ELB4% [195 [87.04 [73.82
103352000907447 |158% NSRS B 125200 |[ANitEsTE ELB4% [198 [85.38 [73.75
103352000918902 |[E&1T NSRS b 125200 |[ANitEsTE ELB4% [196 [86.22 [73.69
103352000907780 |BEET |AHSES R 125200 |[/NHETE ELB4%l [196 [86.2 [73.68
103352000920607 [R5 NSRS b 125200 |[ANtEsTE E2RB4) [202 [83.2 [73.68
103352000907045 [F¥7= INHETRZ MR 125200 |[ANiLEsTE ELB4% [198 [85.04 [73.62
103352000908239 |[EZE | HBES 125200 |[ANitEsTE ELB4% [197 [85.36 [73.54
103352000907607 [XIFX [AHEES[= 125200 |[ANitEsTE E2B4%) [193 [87.12 |73.45
103352000907767 [#RfEHH | AHEES P 125200 |[/NHETR ELB4% [195 [86.12 [73.45
103352000906829 |k INHETES R 125200 |/NHEETE JE£HF [196 [85.6 |73.44
103352000907256 [{@dEN, |AHEEES b 125200 |[ANitEsTE ELB4% [197 [85.08 [73.43
103352000907532 |gufEmk |[AHEESi= 125200 |[ANitEsTE E2B4E) [211 [78.04 [73.42
103352000907125 | NHEBZR 125200 |[ANitEsTE JE£2 B4l 203 [81.86 [73.34




103352000918487 |[F&E | AHEEZER 125200 |[/NHETE ELB4% [203 [81.8 [73.32
103352000906928 [T | AHEEZ R 125200 |[/NHETE JE£H% 204 [81.28 |73.31
103352000907329 [HER | AHEEZ R 125200 |[ANitEsTE e B4 [189 [88.72 [73.29
103352000918805 |EE#L |[AHEES (= 125200 |[ANitEsTE E2B4% [196 [85.16 [73.26
103352000916349  |PHIE INHETRS R 125200 |/NHEETE E£HH [214 [76.12 |73.25
103352000921160 [ZiKkE | AHLBES = 125200 |[ANitEsTE E2 B4 [202 [82.06 [73.22
103352000924157 [X&Fzx |[AHLEES[= 125200 |[ANitEsTE JE2RB4%) [204 [80.72 [73.09
103352000918565 [fAEWN |[AHEES (= 125200 |[ANitEsTE JE£2B4% [185 [90.08 [73.03
103352000917056 |&EEi= | AHEEFIR 125200 |[ANitEsTE E2B4) [197 [84.08 [73.03
103352000918162 |#HREN, [AHEES[= 125200 |[ANitEsTE EL B4 207 [79 73

103352000918856 |17 INHETRZ R 125200 [/NHETE JE£RH%I [203 [80.98 [72.99
103352000907355 |fkBEiz | AHEEFIR 125200 |[ANitEsTE E2B4E) [197 [83.9 [72.96
103352000907676 |FEis, |AAHEEZE 125200 |[ANitEsTE E2B4%) [196 [84.28 [72.91
103352000907124 |EEiE |[AHEES= 125200 |[ANitEsTE E2B4E) [209 [77.78 [72.91
103352000918521 [}ZIBtE | ANHEIEZ R 125200 |/NHEETE JE£HFI [200 [82.24 |72.9
103352000907673 |[{akz |AHBES 125200 |[ANitEsTE E2B4E) [191 [86.68 [72.87
103352000907419 |[3kiE= | AAHEEZER 125200 |[ANitEsTE E2RB4) [197 [83.58 [72.83
103352000908270 |[H&EE |AHBES = 125200 |[ANitEsTE E2B4% [197 [83.5 |[72.8
103352000908241 |2—# |[AHEES[= 125200 |[ANitEsTE E2RB4) [204 [79.98 [72.79
103352000921070 [&EIHFT | AHEEZ b 125200 |[ANitEsTE ELB4% [196 [83.92 [72.77
103352000917102 | |[AHEES= 125200 |[ANitEsTE e B4 [200 [81.86 [72.74
103352000921081 [fRF NSRS b 125200 |[ANitEsTE JE2RB4%) [200 [81.84 [72.74
103352000918064 [3FF5 [AHEES[= 125200 |[ANLEsTE E2B4) [198 [82.8 [72.72
103352000921191  |#ki INHETRZ R 125200 |[/NHETE E2B4) [192 [85.44 [72.58
103352000919495 [\B= INHETRS R 125200 |/NHEETE JE£HF [189 [86.94 |72.58
103352000907564 |gnEE |[AHEES[= 125200 |[ANiLEsTE E2B4E) [192 [85.2 [72.48
103352000920114 | EFiF= |AHEEZ R 125200 |[ANitEsTE ELHH [198 [82 72.4
103352000906909 |3K—1f, | AHEEZ R 125200 |[ANitEsTE E2AB4) [191 [85.48 [72.39
103352000920074 |27rie |[AHEES= 125200 |[/NHETE JE2 R4 [205 [78.28 [72.31
103352000906907 |(EHHE | AAHEEES 125200 |[ANtEsTE ELB4% [196 [82.58 [72.23
103352000906862 |f#AIEE | A\HEES R 125200 |[ANiLEsTE ELB4% [195 [83.06 [72.22
103352000921385 |H%SE |AHEESIR 125200 |[ANitEsTE E2RB4) [187 [87.06 [72.22
103352000908235 |pEE |AHBES 125200 |[ANitEsTE E2RB4) [206 [77.36 [72.14
103352000908283 |t | AHEEZ bk 125200 |[/NHETR JE£HH [201 [79.84 |72.14
103352000907056 |Z=B%iE | ANHEIEZ R 125200 |[ANitEsTE E2RB4) [201 [79.82 [72.13
103352000907487 [3kE= NSRS b 125200 |[ANitEsTE 2B [192 [84.32 [72.13
103352000906856 |FRBIz |AHEETEZRR 125200 |[ANitEsTE E2RB4%) [187 [86.68 [72.07
103352000906978 |[Z=FF | AHSES R 125200 |[ANitEsTE JE2RB4%) [202 [78.96 [71.98




103352000907320 |#A7Rf0 | AHEES MR 125200 |[/NHETE JE2B4%) [201 [79.38 [71.95
103352000917018  |MBM | AHEES IR 125200 |[/NHETE E2B4) [194 [82.68 [71.87
103352000906839 |HEH | AHEESMR 125200 |[ANitEsTE E2R4%) [223 [68.16 [71.86
103352000923200 |E=E¥ NSRS b 125200 |[ANitEsTE E2RB4) [193 [83.14 [71.86
103352000907361 [3Kfid NSRS b 125200 |[ANitEsTE JE2RB4%) [206 [75.84 [71.54
103352000906930 |#7iE INHETRS R 125200 |[ANitEsTE E2RB4) [182 [87.82 [71.53
103352000919397 |[&l INHETRS R 125200 |/NHEETE JE£HH |203 |77 71.4
103352000907193 |2{EFF |AHBES = 125200 |[ANitEsTE E2B4) [210 [73.26 [71.3
103352000922641 |#ZE= |[AHEES[= 125200 |[ANitEsTE E2B4E [198 [79.2 [71.28
103352000907114 |F; INHETES R 125200 |[ANitEsTE E2B4) [214 [70.8 [71.12
103352000907650 [H37¥ | AHEEZ R 125200 |[ANitEsTE E2AB4) [195 [80.22 [71.09
103352000906940 [5KIBIE | AHEEZ Rk 125200 |/NHEETE JE£HH [199 [77.98 |70.99
103352000907115 |3KEata | AHEES R 125200 |[ANitEsTE JE2RB4%) [200 [77.32 [70.93
103352000907275 |F&isE INHETES R 125200 |[ANitEsTE e B4 [187 [83.58 [70.83
103352000907237 |=EE [, AHLEEZi= 125200 |[ANitEsTE ELB%l [195 [79.4 [70.76
103352000920600 |pfi= INHETES R 125200 |/NHEETE JE£HH [178 [87.84 |70.74
103352000919388 |[Eilfiiif | AHEEZ b 125200 |[ANitEsTE e84 200 [76.74 [70.7
103352000907050 |B&{E INHETRS R 125200 |/NHEETE JE£HH [197 [77.94 |70.58
103352000906962 |F5FiFE | AHEEZ R 125200 |/NHEETE E£H% [184 [84.3 |70.52
103352000920628 |[ZAfE | AHEEIES R 125200 |[ANitEsTE e84 [180 [86.18 [70.47
103352000916989 |ZE&:SE | ANHEES (= 125200 |[ANitEsTE B4 [197 [77.64 [70.46
103352000906989 |[&fH | AHEEZ R 125200 |[ANitEsTE E2B4) [204 [74.14 [70.46
103352000919493 (L&Y | AHEES P 125200 |[ANLEsTE E2B4% [198 [76.66 [70.26
103352000907405 |MHLIM |[AHEES (R 125200 |[/NHETE e84 [180 [85.6 [70.24
103352000907744 |=H NSRS B 125200 |[ANitEsTE ELB4% [189 [80.78 [70.11
103352000917177 [f512 INHETRS R 125200 |[ANiLEsTE E2B4) [195 [77.72 [70.09
103352000918841 |EpiE INHETRS MR 125200 |[ANitEsTE £ B4 [180 [85.08 [70.03
103352000907324 |EFE | AHEEFIR 125200 |[ANitEsTE E2B4E [195 [77.42 [69.97
103352000918922 |=iFIR |[AHEHES (= 125200 |[/NHETE E2B4%) [195 [77.38 [69.95
103352000906959 |REIER |AHEEZ R 125200 |[ANtEsTE E2B4E) [195 [77.14 [69.86
103352000907584 |[#MIE | ANHEEIEZ R 125200 |[ANiLEsTE E2B4E [179 [84.84 [69.74
103352000907543 [tARE |[AHEES[= 125200 |[ANitEsTE ELB4E [192 |78 69.6
103352000918500 |XIEE INHETES R 125200 |/NHEETE JE£HH [199 [74.28 |69.51
103352000921062 [FIFR | AHEES P 125200 |[/NHETR E2B4E [197 [74.54 [69.22
103352000906961 |#gEhR |[AHLEESI= 125200 |[ANitEsTE E2B4E) [179 [83.44 [69.18
103352000907096 |{& R, NSRS b 125200 |[ANitEsTE ELB4E [191 |77 69

103352000918584 |G NSRS b 125200 |[ANitEsTE E2B4%) [182 [81.24 [68.9
103352000920406 | | AHEESES 125200 |[ANitEsTE JELB4% [190 [76.92 [68.77
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